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National Chiao Tung University

Abstract

This thesis discusses the mass configuration of rocket based on energy, we use
optimization method to calculate the best mass distribution , and we found that the
best distribution almost has the same-result with theoretical analysis even under the
influence of gravity and aerodynamic forces. Guidance law of this thesis can be
divided into three stages. Thefirst stage is gravity turn,-we control the angle of attack
to zero by using pitch angular velocity. feedback, that avoid rocket damage due to
aerodynamic forces. The second stage is linear tangent law, we use the angle which
calculated in advance to make rocket turns, let the rocket is in level flight at Earth’s
surface so that the rocket meet desired altitude and reduces flight path angle. The third
stage is precise orbit injection, we use angle control and altitude feedback, angle
control is to control the rocket is in level flight, this can made flight path angle to zero.
Altitude feedback transfers altitude variation to angle compensation through look-up
table, let the rocket fly at desired altitude. When the rocket speed meet the condition
of orbit injection, the rocket separates and sends the payload into orbit. The most
important is the error of altitude after orbit injection. Results of simulation show that

the guidance can send the payload into orbit successfully.
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Y HEP - BREI o At & add A dREg Rz
UG BT I G e R R fR e A g - B 30kg ep
OB RPN E A, 223107 AT Z @ X g de TR B om, =15000kg >
o R ;..gm%ﬁi_p. 2R R G c,=0.15 v, =2450m/s » k=1,2,3 °
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3

[

J max - > 2450In[0.15+0.852,]

Ay Ay A 1 (37)
Lsub. to A, 4,4, =2x10"°

H L R R (4, )0 F 021107 ¢ BB IRITIE KR 0 KRB e

T

L=-v+g(A4,4,-2x107") (3.8)

3
H ¥ v=-3 2450In[0.15+0.854,] > ¢ = lagrange multiplier o & =« it c2& & i% %

k=1

SIS ST
L. s k=1,2,3 (3.9
04
= (3.10)
¢

% i8(3.9)55 7 11 18 3

[ oL 2450 0.85

| — s ———————+ 4 A4 =0

02,74 0315 + 0.85,

| oL 2450%0.85

y = + A A8 =0 (3.11)
|02, 0.15+0.85,

| L 2450x0.85

| — = ———— 4+ 44,4 =0

|04, 0.15+0.854,

[ 2450%0.85
| ——————— 4, + 4, A, = 0
10.15+0.854,
| 2450x0.85
= | ——— 2, + 44,0, =0 (3.12)
|0.15+0.854,
| 2450x0.85
| ——— A, + 4,4,4,6 =0
10.15+0.852,

§ (31258 T T AT SR S

2 2 2
1 - 2 - : (3.13)
0.15+0.852, 0.15+0.852, 0.15+0.854%,

17



ﬁxxj‘s_)’u"ﬁvvqﬁxﬂm03‘3—"“%13*?‘(310);7 [
B= A, = 2= 0126 < Mg g P S0 R HR(E £ 4 2 F B B

fofl @ Pt Gt s o 3.3 9

A, A, , V (m/s) Altitude (km) E(s&ac J)
01 | 02 0.1 6438 1541 -8.904x10°
0.1 | 0.3 |0.0667 6147 1362 -9.803x10°
0.2 0.1 0.1 6559 1421 -8.901x10"
02 | 02 | 0.05 6290 1192 -9.884x10°
0.2 0.3 | 0.033 5908 1012 -1.097x10°
03 | 0.1 |0.0667 6727 1035 -9.365x10°
0.3 0.2 | 0.033 6498 811 -1.032x10°
0.3 0.3 | 0.0556 6231 636 -1.125x10°
0.126 | 0.126 | 0.126 6539 1609 -8.578x10°

%33 Al lnE R ~EAE R EE
2335 afdd 2 L4 PPEETVREELE A R ot v A
T AFz SR BpE=350s) s B - 3 EZ B E o B R G Ea R i e

fede(3.14) 2 2 -

E =- +=mV (3.14)
Y GREgFsl+ ¥ - MarakFd mapifd RIpP{IEEc2E
o (BLA)NFAE G S A o d NEEIREQRNI AT RES 2§
B4 hE S TR R B AR AR e R T (4, = 4, = 4, = 0.126) >
VHEFZ SR EET AZ R E Ao EfrA 337 AR ot e g dot o
fpke it G bk chic £ od (LA F g I F RARR (RAES )@ RAES(V

A ORI BAES o d S g A BT B ERE R Rt AR
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R R R FE TGRS A B g A bR i R RO B

Bk AR AR e B SRS SRR T i VB e L
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At B

o FL BB RRE(RT) R R e TR R BB R T TR 33 4

HE ARG H S BT D o
332 % FehRHr (o, )V H s P

A 3.3.1 Ef—-rﬁ;‘j‘;/ﬁ e Ir-ﬁJﬂ$\ Lol ] g L8, 7 L _g_lj*;/{;_l_ ¥ — iR ,E_EEIIJ

R
e A b e TR A L E TR R LR R R BRAER S 7Y A

FA et KRR AP Y g - B 30kg G R-E Hapi e B s 0126
AL Z &N A e TR R m =15000kg 0 & & en g R v, = 2450m /s >

K=1,2,3 o BB NG FI R ho =015 - Bk A ] & § B T 1T

0.1- E:""crlzo.l Yo,201 >o0yp=20.1" E'Juzn%ﬂ)iﬁk"‘ it —’rﬁw%? Z:t\'f‘l' f‘;

( 3

| max —z 24501In[o, +0.126(1-5,)]
‘ 1 3
| sub. to 181100, 4 16520, +1780, =2246

-0{ $0.1< 0 (3.15)
-0, +0.1<0

k=1

-5,+0.1<0

!
l
|
t

Rl

R R A LUEEREE TR s S -2 EiES o S E

170 of > FfRE AT

£
L=-v+¢(131100, +16520, +1780, — 2246) +
(3.16)
w(0.1-0c )+ u,(0.1-0,)+ u,(0.1-0,)
3
HPv=-% 2450In[c, +0.126(1-0,)] * ¢ = 4B %30 % 31 74 lagrange multiplier >
k=1
u, S o, > ou, s = 72 % 3% ahlagrange multiplier o £ & it g £ F i 5
oL
—=0, k=1,2,3 (3.17)
oo
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oL

—_o0 (3.18)

o¢
g, >0, 4,20, 4,20 (3.19)
#,(0.1-0c,)=0 (3.20)
u#,(0.1-c,)=0 (3.21)
#,(0.1-c,)=0 (3.22)

FAT AL SRR LN L To <1 v o <1 o, <1 o d (317)

Xz (3.18) 07 @

k
o, +0.126(1-0,)

+13110¢ — u, =0 (3.23)

k
oc,+0.126(1-0,)

+1652¢ —u, =0 (3.24)

k
o, +0426(1-0,)

+178¢ — p, =0 (3.25)

131106, +16520, +1786, = 2246 (3.26)

H ¥ k= 2450x0.874 ° 1 *(3.20)=(3.22) £ % (3.23)~(8:25) 5 7 7

k

( +13110¢)(0.1-0,) =0 (3.27)
o, +0,126(1-0,)
‘ +1652¢4)(0.1-0,)=0 (3.28)
o, +0.126(1-0,)
k
+178¢)(0.1-05,) =0 (3.29)

0,+0.126(1-0,)
d %o vo, o, £F(3.26)1 P UF A B o, =0, = o, = 0.1 F] 4 (3.27)~(3.29)
Iz HE -G - B 0 TG FRETE B Tg<0 A PAREHS, >0
Bl G iptRaE R

1 k 1 k

4= e——— (3.30)
178 0.126 +0.8740, 178 0.126 + 0.0874

#-(3.30)58 * » (3.28);' 7 ArE (3.28) & B X R Y4 o, <01 0 BIRA (327)54F
Bo <01 T To =0,=01> F¥@206){FFlo, =43>1 > EFF Fi ]
W 1lhg Lo FPr T 5o, =01 °d (3.26)~3.28)i F 4ro, 2 o, X F I AT it

FEEH > Fo,>0120,=0180,=0.1"0,>0.1 ¢ RipH fAFH 73 = i@
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Bovirk G iE# Lo -015736 Y0,=01"0,=01°F FHE TG 02

T6,202%0,202"0,202 REBFNEHEE s =01434 7 0,=02"0,=02 °

Bt eE R (LR RO ORI £ 2 B B R
BRE N BAcA 34977 od L 34T U I AR FEMBETE T

=k

P e AR P R AR ¥ BT BARS

-, o, o, V (m/s) | Altitude (km) | E(% 4% J)
0.15 0.15 | 0.15 6539 1609 -8.578x10°

0.15736 | 0.1 0.1 7412 1741 ~-6.515x10°

0.1434 0.2 0.2 5810 1498 ~-1.014x10°

%234 Ao hBRECERE TR

34 i@

b 32 G E R BRIV HNRERAGTT ) Barhz &R aiRT
Bl S BR o A BV ARNREREN R RN - A33FY S A
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GBS R T B & § 3 B R ol S A R
TR E b R EER RS TR £ 2 F B B E R B
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41 44 » £ % R(TVC)
G e R AP Y PR Z A B i Bk % AT 55

p

ol RIS N R A 0 ) B el 4.1 S

B 41 484 » & L3I0

s 1 3@"

Ho (x,v,z) ZHAEEM F A4 = Bid Biddnded 2% C6 H VHF

-

il Lo iesd B2 FPagedios 2 F axy Lo Pl e R

ZBenddk > 6,5 F ax-zTo Pl EERX 2Fdd i o
d B4l aAAPy gy ez z3eagind 4

F,=-Fsing,

y

F,=-Fsing,

g

FP=F +F +F
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#(41) %~ (42)7 @

Fz:FXZ+Fzsin25y+Fzsin25Z

i
i

im
=)

F. =F'-F’sin®s -F’sin’g,

=> F,_=F \/1—sin25y—sin252

AN :\/1—sin2§y—sin25Z

i

» T E A 4 3 RN G

|—FTX—| [F 0 01 A 7]
IF”I:IO -F 0 Hsméyl
|F,] [0 o —F|[|sing,|

M. 1T [0 =FCG,  FCG I A ]
| || ] |
||\/|Ty|_|_|:CGZ 0 =F,L ||sm5y|
o] [ 68, SR i,

d 35 o, F +5 UG B FEFRC] o RIA 21 0 sins ~5, 2 sing, x5, 0

EEILF 1L #(4.5) 40 (4.6) @ i =

[F, 1 [F 0 01717
Folfo r oo la
[Fn] Lo o -F][s]

I 1ra
I—FCG 0 —FLH I
| Fco FL o |5, ]

(41)% (48)T 5414 Fend #1448 250
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(TR L )E S RIS S BT 2 TR E 4 PRl B i en s RARARIE
SEP LR R AR AU E RIS L PR WA F R AR IR
§OUR i RH e SRS R T BIR ETE R ] S

T & R g ag 2 b 37 8rehd e (bending moment) o A e € 3 S A b R EL

» 7 ERELIHEE > F F 2 (S F 2 TRERITEFHIDF o %

3
i
&
4
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ek
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SEABEI TR T A HU RGP ER ] o d stk b ERE
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BlA28r 2 aFrcd2 TR R Bd T A Rded o e o

G T B R X i 0V B LB () R e 0 D B LB AR
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ey

fEd omg kA L F et enE A4 s W H ek S g(VHLE e

)

ZF P
BookTedspgi-00 k) d VTR > cd 3 02 VHALIL
B X ghind £ Fhi g A AREr Lo g BT VR e E

4(4.9)5 2 (4.10)5 #77 [5] -

dv

T-D-mgcosd =m— (4.9)
dt
. de
mgsing =mV — (4.10)
dt
BOFFHH L HFERV L ] FIAMAE X > w2 4 @ el o (4.10)55 & it i
B FlEd FEnRod A2 7T RSBV AL LS 4ok B A48k

T o)k R E e 0 TR S B e d (410)55F B TiE B S i K0 4o
(4.11)5 #57
do gsiné

V e il (4.11)
dt V

(4.11): &7 éfmsine E R S Tk B R AR EN I E P et
feVEEmEFlsrd 5 0RAP b ] 5 SLamk s 2 BBl4r Bl 4.3 977 - X i

E Rl R PO (- W2p) o T PARLE: < SR A

BOM 5 SR B s e B A RE L 0 R

gt e g AR L6 0 - FEES S K Fo b de A p o e i o dpdl k sLeng
S+ a
R R Y VR F R
o _gsing (4.13)
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BRI 0 ZEBRIERIEER AL Vo MW K, KA H g

!

?"E_’g’—)i'—:"i‘é_i 4 dp o d 7;/\‘?1#74‘1/:‘ ju; ﬁ?_%fm_ Fés /:“"‘UA /z‘ il;i%’é}gg ’«‘E‘i#‘]

B L@ GHAGHE o T BT o

43 - BB
431 P EIE

FoPFERERL 2 ARES GREAMOETT LE AN S s o F

SHREYRARPP DI ENPE R R D MR E SRR VS
HaldeT[9]

tan @_ = tan @, ~(tan 6, - tan Qf)t— , tst, (4.14.9)

@:ef_gixbr st (4.14.b)

HY (41487 0, 2 S - rER gk 0 4 0t 0 E T, PERF 0, St=1,
10 & o (4140);8 % R, S F PFersbAz > R G IRE L > L 2R DB AT
Flg kb G frig = -k T g (local horizontal plane)sn% it - et <t pF> 4] * (4.14.9)
PR > t>t o I (AL AR BREFE IR D FEREL o
U R Sl E L R 0, o R PR R A ffRe, o A0, k]

. ~ S = IS 2% T o2 D A% s ) A
RIPSASSE § R 3R 2§ A6 S 3% -

27



AT U B R A U AR R ST

h=Vsiny (4.15)
. 1 . 2 - . .
V =—(Tcosa—D-mgsiny)+Rew cosr[coscsiny —sinzcosysiny ] (4.16)
m
. 1 [(T i L) ] V cosy 5
y = — sina + L)cosu —mgcosy |+ +2wcoszcosy
mv 4.17)

2

cosz(cosz cosy +sinzsinysiny)

Heom PELELE T V&S gaEFHBATaN)ES v R 2 5 (F5
PTREEM)ER G AR CRIPERE O VI EDER(BME)
APREEFEREE  y FEARS P A o Stk o DA ded
Lifdisd (LE0@ R w) o 20k g $ohs LIS T 6 93 R
pow REEAEXEH i R R ARY-Z2T G PR frydhind & o @ o9 FRa ~ y PR T

s EE

B 44 08%a ~ B %8

6’:7(270:7)/) (4.18)

FA Mo i3-S 0 AS - FBEBFEE T AIFRES o § g
2

LR 0 A (s RIREN > 4oW 45 ST
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Angle of attack(degree)

tl t2 __—
I
| t3  Time(s)
I
B 45 o it L HE
R L R P TS

Fte chpE [ o o (4.16)2 (4.17)F a0 i B 2 @ 7 T & s 1 K F LS

&2 E d&d FEEF e E (418)5\‘}‘ B45 ¥ MiF o, €¢5Fu¢/ﬁ‘m'Ta DA
e dad AEdES R RERAEDRT T T s A A E R T IT

F RS

Z =l ARAGGY 0 4eB] 4.6 B 47 5o ¢

Flight path angle (degree)

Y1

Ytz

1 2 t3  Time(s)
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Velocity(m/s)

Vo

t3  Time(s)

B 47V i1 & B

F* F 4.6 2 F 4.7 %@ B 2§ FRAD & P2 N B 2 4o(4.19)58 2 (4.20)58 7

m(t=t) 4V, tpst<t
v =! (4.19)
Lm, (- 1) #Vgeat, <<t

(4.20)
Hebrcaadom ~m G304 S 0 SEILE LEH(A.15) s B3 A 19 T

h(t,) = h(t,) + jjzv sin ydt+j:3v sin ydt (4.21)

B ht) 5% BEEFD PR R BE@2D)T LERUH AR Z R

LR Pl RS AT G RFVH AR S R RE DR
B #BRZBARICE -BA8 - B492 BA10 AN L F o R EAEF A

frent, 2 0 T o MR F R ERE HERICE SRR
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altitude (m)

velocity (m/s)

2.15 _~_~__-_-_—___~_~__-__{
21 0= 60"
——0,=-70"
2.05
——0,= 80
2 P—
1.95
19
1.85
S —
- //
1.75
5 10 15 20
)
Bl 4.8 3 B ¥t B
4340 —
——0,=-70"
4330 .
\\ ——06,=-80
4\ "IN
4320
4310
Py E— \
4290 I —
4280
4270
4260
4250 —_—
I
4240
5 10 15 20

x 10°

O]

B 4.9 i & %t F
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=
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g 28
26
24
22
20
5 10 15 20

time (s)
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B - 2B R RIFEA0, ) kG S PR At Ee FFU-TOR L AE
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#{(4.22)7 1% » (A21)3% FFE X E o 1R R % FE T 400kM 3 6] 4 gL

h(t,) = 400000m - ‘fl]’i’r (4.21)% (4.22)55 ¥ 14 +7

B 412 5 V-

~
F_‘-

4500

4000

inertial velocity (m/s)

2000

1500

sin(r)

3500

3000

2500

>
™

C = PR BT I

-70

(4.22)

Xx=5> {859 =-75 - B 411 %

f

-
4=
™

Fi

ﬁf}

Rt
4=

simulation result
approximation result

g

/ —

/

7

//
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time (s)

B 4.11 i & % - B](400km)

0.9

[
simulation result

0.8
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AN
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A\

0.4

A
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0.2
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50

100
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time (s)

B 4.12 B~ sin & dcts ch i 7B /S & % 1 §](400km)
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d B 41132 B 4127 R TN ESEHIERES AIET A & 0 F B E NS

FEIIB RS 3KMe hok BB RIS 0 (AR o ] gk
B3 e de kY R L 300km » f],};{h(tz) =300000m > 4] * (4.21)% (4.22)
PP REX=12 Fle, =82 c BAI3Z R AL14 5V~ ¥ Z FFE T

S = X Lo

4500 simulation result
approximation result

4000 / __|
3500

3000 /
2500 /
2000 /

//

inertial velocity (m/s)

1500

50 100 150 200 250 300 350
time (s)
B 4.13 & A& % i B(300km)
1
simulation result
0.9 N\ . i
approximation result

o\
M
o\

sin(r)

03 ~

0.2 \

0.1
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time (s)

B 4.14 B~ sin o ficis o 17 854S & 5 1 §)(300km)
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R EEIR R 5 208K 4TI (A21)2 (422)T VUE Y A g R 0 R A & 0

S
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0

44

TSRS

=

P B - PR B AR B % ﬂie«J &
B oo % PEEREE]S BB BT

8ye ;
- 1 z
0. controller fmpp| ——— m—) K, f—)yi - —> ‘ >
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44 ¥ =I5
441 »HAREER
Iy R02S SENR IS 0 SR 5 L0 & S o) I e R A BT

MIE Lo B ] B TR R Rl At i T R R R e W

0 =R (4.23)
2
HY R, ZEPensffE R, ZEIREE > PN L LIS - E L H P ke 5
“73% & -k T G (local horizontal plane) s it o
F1% (423)7 Bl B BT FoRT G o0 i R T EL S ABITN 0 R 0

P ERSEEN REIRYSILEY L3 =2k IR Y S M

hy © GOl o STILT rL#(4.15) 50 3T 10

h=Vy (4.24)
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oA pEFAEMNEPLER()DLZELE D NP ENTE DG RR
t(h) 2584
Hk = f(h-h,) (4.25)

He h 2P HBR > h, 2HLFRE o £ 4ok 41957 o #n F > T3

o - Ko=) (4.26)
\%

£ (4.23)% (4.26)7 M E I H = PE B endESI RS

0.- - Zeianio (4.27)
2 R,
% & £ (km) BRSLEMS). | B A LK) BB % E(mls)
-20 400 0 0
-10 390 2 -200
-8 310 2.5 -250
-7 300 3 -330
-6 280 4 -340
-5 260 5 -350
-4 250
-3 240
-2.5 230
-2 220

241 3 REE
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